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SRR E T (554) VEWRIEEE  1L=43m e 1 1|k b A 3 5
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TTEHRE (D

iz B ?Ii?']
B = BINEEREXFREERMISIERER @ B |FHEE 4 B SEEM @ B THE® 4+ B %
(m) (m) (m) (m2) (m2) (m3) (m) (m2) (m2) (m3)

NO.2-0.59 3.01 77
NO.2-0.50 310 | 0.09 11.5| 960 0.9
NO.2 360 | 050 115 | 11.50 5.8
NO.2+1.20 480 120 115 1150| 138
NO.2+2.15 575| 095 2.1 6.80 6.5
NO.5-0.88 2175 1600| 1712| 118| 695| 1190
NO.5-0.50 2213 | 038 173 | 1455 55
NO.5 2263 | 050 17.3 | 17.30 8.7
NO.5+1.20 23.83 1.20 173 | 1730| 208
NO.5+2.21 2484 | 101 29| 1010 102
NO.7-2.50 4079 | 1595| 1734| 110| 6.95| 1205
NO.7-0.65 4264 185 11.0| 11.00| 204
NO.7-0.50 4279 015 18.7 | 14.85 22
NO.7 4329 | 050 18.7 | 1870 9.4
NO.7+1.20 4449 | 120 187 | 1870| 224
NO.7+2.11 4540 | 091 49| 1180 | 107
NO.9-0.97 59.03 | 1363 1426| 305| 1770 2524
NO.9-0.50 59.50 | 047 376 | 3405| 160
NO.9 60.00 |  0.50 376 | 3760| 188
NO.9+1.20 6120 | 1.20 376 | 3760 | 45.1
NO.9+2.15 62.15 | 0.95 13.1] 2535| 241
NO.11-0.90 79.10 | 16.95| 17.73 171 15.10| 2677
NO.11-0.50 7950 | 040 238 | 2045 8.2
NO.11 80.00 | 0.50 238 2380 119
NO.11+120 | 8120 | 1.20 238 | 2380 | 286
NO.11+2.05 | 82.05| 0.85 21 1295 110

= 79.04 1060.6




TTHRE (2

B = BINEEREXFREERMISIERER @ B |FHEE 4 B SEEM @ B THE® 4+ B %

(m) (m) (m) (m2) (m2) (m3) (m) (m2) (m2) (m3)

NO.2-0.59 3.01 0.0 0.0
NO.2-0.50 310 | 0.09 00| 000 0.0 33 1.65 0.2
NO.2 360 | 0.50 00| 000 0.0 33| 330 17
NO.2+1.20 480 120 00| 000 0.0 00| 000 0.0
NO.2+2.15 575| 095 28| 140 13 00| 000 0.0
NO.5-0.88 2175 | 1600]| 17.12 00| 140| 240 1712 00| 0.0 0.0
NO.5-0.50 2213 | 038 00| 000 0.0 55| 275 1.1
NO.5 2263 | 050 00| 000 0.0 55| 550 2.8
NO.5+1.20 23.83 1.20 00| 000 0.0 00| 0.00 0.0
NO.5+2.21 2484 | 101 48| 240 2.4 00| 000 0.0
NO.7-2.50 4079 | 1595| 17.34 00| 240| 416]| 17.34 00| 000 0.0
NO.7-0.65 4264 185 00| 000 0.0 00| 0.00 0.0
NO.7-0.50 4279 015 00| 000 0.0 78| 390 0.6
NO.7 4329 | 050 00| 000 0.0 78| 780 3.9
NO.7+1.20 4449 | 120 00| 000 0.0 00| 0.00 0.0
NO.7+2.11 4540 | 091 29| 145 13 00| 000 0.0
NO.9-0.97 59.03 | 1363 14.26 0.1 150 | 214| 14.26 00| 000 0.0
NO.9-0.50 59.50 | 047 0.1 0.10 | 0.05 7.1 3.55 17
NO.9 60.00 |  0.50 0.1 0.10 | 0.5 7.1 7.10 36
NO.9+1.20 6120 | 1.20 0.1 0.10 0.1 00| 000 0.0
NO.9+2.15 62.15 | 0.95 43| 220 2.1 00| 000 0.0
NO.11-0.90 79.10 | 16.95| 17.73 10| 265| 470 1773 00| 000 0.0
NO.11-0.50 7950 | 040 10 1.00 0.4 7.1 3.55 14
NO.11 80.00 | 0.50 10 1.00 0.5 7.1 7.10 36
NO.11+120 | 8120 | 1.20 10 1.00 1.2 00| 000 0.0
NO.11+2.05 | 82.05| 0.85 80| 450 3.8 00| 000 0.0
= 79.04 147.2 20.6




T - FZUIHE

P BT
Al = BSNEERFXHEEEERER @ & TR 4 & %

(m) (m) (m) (m2) (m2) (m3)

K1 0.00 0.1
K2 5.19 5.19 1.0 0.55 29
K3 10.46 5.27 1.7 1.35 7.1
K4 1446 |  4.00 24 2.05 8.2
K5 20.30 5.84 14 1.90 11.1
NO.16 2502 | 472 0.3 0.85 40
K6 31.51 6.49 13 0.80 5.2
K7 36.80 5.29 2.8 2.05 10.8
K8 5032 | 13.52 0.4 1.60 21.6
K9 56.11 5.79 0.0 0.20 1.2
K10 59.61 3.50 0.7 0.35 1.2
K11 66.55 6.94 0.2 0.45 3.1
K12 73.03 6.48 0.1 0.15 1.0
a i 73.03 77.4
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90.30 m2

1930.8 m2

975.8 m2

2906.6 m2
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m m3 (% 1E-5%) m2 (#FHIE+7%) & =13 N m?2
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& 24.0 13.7 | (12.0+13.60+3.6) x1.07 31.2 11 1 ) 8.4
N2+ BT 6.0+5.0+8.0+9.0+10.0 |0.5x1.2x38.0x0.95 |3 : 38.0x0.5 19.00 1.2x8.0 +ET—RE (1)
T - 38.0%1.2- (8.0+9.0+6.0+5.0) x0.95 19. 00
BIE : 2.0x1.2x2 4.80
& 38.0 21.7 | (19.0+19.0+4.8) x1.07 45.8 19 19 8 9.6
NOSEEBT 7.0+5.0410.0411.0  |0.5x1.2x33.0%0.95 |#%@& : 33.0x0.5 16. 50 1.2x10.0 | +mr_p@ (2)
T®E : 33.0x1.2- (10.0+7.0+5.0) x0.95 18.70
I : 1.5%1.2%2 3.60
& 33.0 18.8 | (16.5+18.7+3.6) x1.07 41.5 16 16 10 12.0
N4+ BT 10.0+10.0+18.0+19.0  |0.5x1.2x57.0x0.95 | :57.0x0.5 28.50 1.2x18.0 | +wmr—pm (2)
@ : 57.0x1.2- (18.0+10.0+10.0) x0.95 | 32. 30
& : 1.5%1.2x2 3.60
& 57.0 32.5 | (28.5+32.3+3.6) x1.07 68.9 20 20 18 21.6
NOSEB T 10.0+10.0+18.0+19.0  |0.5x1.2x57.0x0.95 | :57.0x0.5 28.50 1.2x18.0 | +wmr—pm (3)
@ : 57.0x1.2- (18.0+10.0+10.0) x0.95 | 32. 30
BIE : 1.5x1.2x2 3.60
Hi 57.0 32.5 | (28.5+32.3+3.6) x1.07 68.9 20 20 18 21.6
INEY 209.0 119.2 256. 3 86 86 61 13.2
RYEBAIE S & A 2.0 [0.5x1.2x2.0%0.95  |&@E: & - 1.2x2.0 TRT—@E (1)
MmMZIT (NO1) FE:2.0%1.2 2. 40
BIE : 0.5x1.2x2 1.20
2.0 1.1 (2.4+1.2) x1.07 3.9 2 2.4
=X 211.0 120. 3 260. 2 86 86 63 15.6




KEBEIHEHESE

% i = |Hf k=
KRR T 145 m [2.64+3.4+2.82%3
RYTFLoARIUFE[3008! 49| m |0.86+1.44+0.86%3
TRIZEIILAR 300 TFRIZE 60° 5| {&
FiRFEA B 3m)| #12 L=3.0m 1.3] kg [0.25%5
= 88tk t=3.2mm 45.8| kg |15.88+9.98%3
#AEARILE M10 X 40 18] & [6+4x3
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%t UG IE#f t=10mm & Rhiki 88.3| m2 |7%126.2/10
#HE—_—I)L t=0.90mm 126.2| m2 [10%126.2/10
FRYE 63.1| m3 [5.0%x126.2/10
R 29.0( m3 [2.3%x126.2/10
FEEE/KERIT (1)
HRwHRAILN—k 300 % 300 6.0 m
BEILEIL 1:03 0.05| m3 [0.09%6/10
o 9)—k $£-8-40BB 0.32| m3 |0.54%6,/10
R 1.2| m2 [2.0%6/10
2R RC40-0 3.8| m2 [6.4%6/10
FRYE 4.4 m3|[7.4%6/10
HEREL 2.3 m3(3.8%6/10
FEERKER I (2)
iR E ¢ 45¢cm 140 m
% HH UBAE# t=10mm & Ak 19.7| m2 [14.1%14/10
BHE=——)L t=0.25mm 21.0| m2 |15%14/10
£KE o 100(F FLIEEE) 14.0] m [10%x14/10
R X HELSR #12 0.92| kg [0.66%14/10
FRYE 8.4 m3[6.0x14/10
HEREL 6.2| m3 |4.4%x14/10
EELTTH
FRHE 75.9] m3 [63.1+4.4+8.4
HBEREL 37.5| m3[29.0+2.3+6.2




AR T (1) BKEFHE NO11-8EHTIH)

NS

Za PR FRAE A = E e g B
R =F LAl
U Tt 300%! 0.86| m [10. 5kg/m
Y TF Lo B U
Tlx T LR 60° 3007 N E
TR 2|t
7k LEkAR
et (113, 0m) #12 (3. Om+3. Om) X 0. 042 0. 25| kg |0. 042kg/m
AREEHGET (2) BEEHFT (N0.2+-BETEH)
Przin - 1%% +
£ PR HRS = B2V ) F g =
AU =T L sl
U T8 3007 0. 58+0. 86 1. 44| m |10. 5kg/m
RV =F L o BARIU TS
Tl =LA 60° 3007 A [E
T 2|
7ok LKA
Fe ki (13, 0m) #12 (3. Om+3. Om) X 0. 042 0. 25| kg |0. 042kg/m
FE AR t=3. 2mm (0.38X1.56) X26.79 15. 88| kg [26. 79kg/m2
WAL bk MI10X40 [3X2 6| A
AREESET (3) HKEFEMF (N03,4, 5+ TE)
St > 1%@? i
4 PR JRAE T = ) F i =
RY = F LRl
U T8 3007 0. 86 0.86| m |10. 5kg/m
AV =T L RARIU
Tl & /AR 60° 30078 1| &
i T 1|t
72 E LB
Fe st (1773, 0m) #12 (3. 0m+3. Om) X 0. 042 0. 25| kg |0. 042kg/m
FE AR t=3. 2mm (0. 38 X0.98) X 26. 79 9. 98| kg |26. 79kg/m2
BEATR L MI10X40 [2X2 4| A




KM THERE R

1.3 610 7+9

K 5007 2 1 1 1 2 2 1 1 1 1 1 1 15 3
18-8-25

=27 ) — R |we:eoul 7] 0.88 | 0.65 | 0.67 | 0.61 | 0.80 | 0.86 | 0.37 | 0.43 | 0.43 | 0.33 | 0.40 | 0.40 | 6.83 m3

] RC40-0 | 0.24 | 0.20 | 0.20 | 0.19 | 0.24 | 0.24 | 0.12 ] 0.12 ] 0.12 ] 0.12 | 0.12 | 0.12 | 2.03 m3

LN 0.25 | 0.28 ] 0.28 |1 0.45 ] 0.23 ] 0.25 | 0.23 | 0.25 | 0.25 | 0.20 | 0.23 | 0.23 m3




SKMBEHES

1-3BE/KMT (1HL71-Y)
av9)—k: 080><080x115 0.50 X 0.50 X 1.00-0.38 X 0.42 X 0.15 X 2-0.06"2 X 3.14 X 0.15
= 0.44 m3

HBERR: 090><090x015
= 0.12 m3

25 KT (1K H=Y)
a9 )—b: 090><090x125 0.50 X 0.50 X 1.10-0.38 X 0.98 X 0.2-0.31 X 0.16 =2 x 0.38
= 0.65 m3

HBPA:  1.00%x1.00x0.20
= 0.2 m3

4SEKKMIT (1 EHTY)
A>7')—h: 090x0.90x1.25-050 X 0.50 X 1.10-0.38 X 0.42 X 0.2-0.44 X 0.44 X 0.2
= 0.67 m3

HEMBPBA: 1.00x1.00x0.20
= 0.2 m3

SEEKMT (1ZK K1)
avo)—k: 130><080><105 1.00 X 0.50 X 0.90-0.44 X 0.44 X 0.15-0.21 X 0.12=2 %X 0.38
0.61 m3

HERA: 14o><090><015
= 0.19 m3

6- 105 EAKMIT (1EL-Y)
a o) —b: 080><080><105 0.50 X 0.50 X 0.90-0.38 X 0.42 X 0.15 X 2-0.06"2 % 3.14%x0.15
= 0.40 m3

HERA: 090><090><015
= 0.12 m3

795 KM T (1 FKL=Y)
avo)—b: 08><08x115 0.50 X 0.50 X 1.00—0.38 X 0.88 X 0.15-0.21 X 0.12=2 % 0.38
= 0.43 m3

EMBA:  090x090x0.15
= 0.12 m3



SEEKMT (1R L)
a9 )—khk: 080><080x105 0.50 X 0.50 X 0.90-0.38 X 0.42 X 0.15 X 3-0.06"2 % 3.14 X 0.15 X 2
= 0.37 m3

HBRR: 090><090x015
= 0.12 m3

MNMEEKBMT (1HY-Y)
av9)—k: oso><osox1 15-0.50 X 0.50 X 1.00-0.38 X 0.42 X 0.15-0.44 X 0.44 X 0.15
= 0.43 m3

HBRR: 090><090><015
= 0.12 m3

128 KBMT (1HY-Y)
a>91)—k: 0.80%0.80 % 1.15-0.50 X 0.50 X 1.00-0.38 X 0.42 X 0.15-0.44 x 0.44 X 0.15-0.06"2 x 3.14 X 0.15
= 0.43 m3

HERA: 09o><090><015
= 0.12 m3

138 KMT (1H YY)
avo)—k: oso><oso><095 0.50 X 0.50 X 0.80-0.38 X 0.42 X 0.15 X 3-0.06"2 X 3.14 X 0.15 X 2
= 0.33 m3

HERA: 09o><090><015
= 0.12 m3

145 8K T (1 &EL-Y)
avo)—b: 080><080><105 0.50 X 0.50 X 0.90-0.38 X 0.42 X 0.15 X 2-0.06"2 % 3.14%x0.15
= 0.40 m3

HERA: 090><090><015
= 0.12 m3

155 8K (1&EL-Y)
a o) —b: 080><080><105 0.50 X 0.50 X 0.90-0.38 X 0.42 X 0.15 % 2-0.06"2 % 3.14 X 0.15 %X 2
= 0.40 m3

EMBA:  090x090x0.15
= 0.12 m3



it — b BEBEHE
BEPr s — MEWERGE T ER L = 223.0m
10. Om& 7= U #l&

E O B | % =2
By — bk 2m X 25m t=1. 4mm E=3 0.42
-t H—K7oh— @ 9mm % 400mm (45° ) X 30
= H—KF—7 W=100mm L=25m = 0.07
tHH—kF—F =y | BUAST ey 012
TAYF 1)a—2% : 333ml . 0.07
K 1B ittt m3 5.0
BREL W<1.0m £+ m3 5.0
4 PR HIRS Y PGy g B
Bty — b omX25m  t=1. 4mm 0. 42%223/10 9.4 &
= K7 v — ® 9mm X 400mm 30%223/10 669 A
I H— KT —7 W=100mm 1=25m 0. 07%223/10 1.6] &
o H—FF—7 20Uy k| 2508/2%> 7 100mm X 100mm |0. 12%223/10 2.7 Xy s
T H T 2 a— % :333ml 0. 07%223/10 1.6l &
FEEIE 1. 0%223/10 22.3] m2
i 5. 0%223/10 111.5 m3
HEREL FEA - 5. 0%223/10 111.5] m3




